
1) What would you multiply by to 
decrease an amount by 41%?

Answer: ____________

2) 6% of 171

Answer: ____________

3) A number was shared in the ratio 
36:87. The smaller share was 12. 
What was the larger amount?

Answer: ____________

4) b

a o c
Measure angle boc 

Answer: ____________

5) Find perimeter of 
triangle
a = 3290 in , b = 
9323 in

Answer: ____________

6) (8 x 1-3) + (5 x 14)

Answer: ____________

7) Find the median of the following set of data:

12, 14, 18, 18, 3, 38, 35, 24, 22, 20, 
27, 18, 4, 19, 9, 9, 11, 36, 37, 31

Answer: ____________

8) 6005.8 + 1648.8

Answer: ____________

9) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 12

Answer: ____________

10) (9 x 41) - (10 x 82)

Answer: ____________

11) A number was shared in the ratio 
72:96. The smaller share was 45. 
What was the larger amount?

Answer: ____________

12) What would you multiply by to 
increase an amount by 69%?

Answer: ____________

13) 36/
1 ÷ 26

/17

Answer: ____________

14) 4581.3 + 4851.4

Answer: ____________

15) Find the median of the following set of data:

10, 39, 22, 25, 11, 30, 30, 38, 19, 
20, 12, 4, 22, 10, 18, 7, 39, 20, 4, 17

Answer: ____________
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16) 14/4 + 39/10

Answer: ____________

17) 14/4 + 39/10

Answer: ____________

18) What would you multiply by to 
decrease an amount by 14%?

Answer: ____________

19)

A = 33  B
Find the Angle at side B.

Answer: ____________

20) 2619 ÷ 97

Answer: ____________

21) Share 92 in the ratio 22:24

Answer: ____________

22) Increase 402 by 49%

Answer: ____________

23) 148/20 x 91/2

Answer: ____________

24) 148/20 x 91/2

Answer: ____________

25) 13   15/19 - 22   1/9

Answer: ____________

26) Write 4 x 10-1 as a normal number.

Answer: ____________

27) Decrease 185 by 2/37

Answer: ____________

28) 16/18 x 35/9

Answer: ____________

29) Solve by factorising 
s2 + 11s - 12 = 0

Answer: ____________

30) 4292.6 + 8315.8

Answer: ____________
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31) (-560) ÷ (-80)

Answer: ____________

32)

A B = 30
Find the Angle at side A.

Answer: ____________

33) (4 x 101) + (9 x 85)

Answer: ____________

34) Find area of square 
having each side (s)
equals 5373 ft

Answer: ____________

35) Find the median of the following set of data:

6, 22, 40, 20, 7, 8, 28, 21, 15, 33, 
34, 14, 12, 4, 40, 15, 28, 35, 13, 15

Answer: ____________

36) Factorise 3d2 + 15d + 12

Answer: ____________

37) Find perimeter of 
square having each 
side (s) equals 4723 m

Answer: ____________

38) 141/14 ÷ 1911/13

Answer: ____________

39) Round 9.2529383658 to the nearest 
whole number.

Answer: ____________

40) Round 9.2529383658 to the nearest 
whole number.

Answer: ____________

41) Simplify 79:53

Answer: ____________

42) 3966.7 + 8237.8

Answer: ____________

43) Share 53 in the ratio 20:33

Answer: ____________

44)
38  Find Volume of 
                         Pentagonal Pyramid 

34
34

Answer: ____________

45) (1 x 3-1) / (9 x 3-3)

Answer: ____________
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46) (1 x 3-1) / (9 x 3-3)

Answer: ____________

47) Find perimeter of 
triangle
a = 2343 in , b = 
6381 in

Answer: ____________

48) 85 x 1000

Answer: ____________

49) 'What is the probability of rolling 
factors of 2.when rolling a dice

Answer: ____________

50) What would you multiply by to 
decrease an amount by 81%?

Answer: ____________

51) 7783 + 4031

Answer: ____________

52) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

53) Round 26.6312796 to 5 decimal 
places.

Answer: ____________

54) 1670 - (-4061)

Answer: ____________

55) A number was shared in the ratio 
11:88. The smaller share was 92. 
What was the larger amount?

Answer: ____________

56) Convert the following mixed number 
55/18 into an improper fraction.

Answer: ____________

57) 361/17 x 2015/20

Answer: ____________

58) (-5444) - 1542

Answer: ____________

59) Increase 177 by 3/59

Answer: ____________

60) Increase 65.3 by 61%

Answer: ____________
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61) 5-8 / 58

Answer: ____________

62) (-6630) ÷ 78

Answer: ____________

63) 7066.3 - 4457

Answer: ____________

64) 22% of 55

Answer: ____________

65)
35  Find Volume of Cone 

31

Answer: ____________

66) (2 x 89) x (9 x 75)

Answer: ____________

67) 5165.2 - 778

Answer: ____________

68)
38  Find Volume of Cone 

34

Answer: ____________

69)
34  Find Volume of 
               30       Cylinder 

Answer: ____________

70) 2/3 of 30

Answer: ____________

71) 5/56 of 224

Answer: ____________

72) 33/8 - 12/15

Answer: ____________

73)
35  Find Volume of 
               34       Cylinder 

Answer: ____________

74) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

75) Round 16.607957 to the nearest 
whole number.

Answer: ____________
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76)

'Name the type of angle.

Answer: ____________

77)

'Name the type of angle.

Answer: ____________

78) 38/11 x 5/1

Answer: ____________

79) What would you multiply by to 
increase an amount by 58%?

Answer: ____________

80) Decrease 120 by 1/15

Answer: ____________

81) Write 3 x 107 as a normal number.

Answer: ____________

82) Find the value of 'f' by completing 
the square of the following equation: 
2 + 6f + 9

Answer: ____________

83) Round 26.4885946 to the nearest 100

Answer: ____________

84) Write 9000 in standard form.

Answer: ____________

85) 2/15 of 75

Answer: ____________

86) Find the median of the following set of data:

10, 3, 27, 10, 23, 39, 12, 35, 2, 40, 
6, 14, 4, 15, 38, 2, 35, 36, 36, 16

Answer: ____________

87) 5/5 + 28/17

Answer: ____________

88) 1085.5 - 541.9

Answer: ____________

89) Round 21.91081001417 to 2 
significant figures.

Answer: ____________

90) 110/11 ÷ 235/6

Answer: ____________
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91) (7 x 31) - (4 x 2-2)

Answer: ____________

92)
40

Volume of Cone 
38

Answer: ____________

93) 97 x (-22)

Answer: ____________

94) Find the mode of the following set of data:

171, 171, 171, 171, 171, 155, 155, 
155, 155, 155, 28, 28, 28, 28, 28

Answer: ____________

95) 15/11 x 29/1

Answer: ____________

96) Decrease 249 by 2/83

Answer: ____________

97) Decrease 261 by 90%

Answer: ____________

98) Simplify 2:29

Answer: ____________

99) Write 4 x 10-2 as a normal number.

Answer: ____________

100) 23/4 x 2/4

Answer: ____________

Total: ___ / 100
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Answers:

1) 0.59 2) 10.26 3) 29 4) 58 5) 21936in 6) 13 7) 23.5

8) 7654.6 9) (j + 4)2 - 4 10) -604 11) 60 12) 1.69 13) 237/13 14) 9432.7

15) 16 16) 72/5 17) 72/5 18) 0.86 19) 147 20) 27 21) 2 : 90

22) 598.98 23) 1364/5 24) 1364/5 25) 1755/171 26) 0.4 27) 175 28) 337/81

29) s = 1 or -12 30) 12608.4 31) 7 32) 150 33) 294952 34) 28869129ft 35) 33.5

36) (3d + 12)(d + 3) 37) 18892m 38) 2561/3612 39) 9 40) 9 41) 79 : 53 42) 12204.5

43) 1 : 52 44) 25192.377084357 45) 1 46) 1 47) 15105in 48) 85000 49) 1/3

50) 0.19 51) 11814 52) 1/3 53) 26.63128 54) 5731 55) 736 56) 95/18

57) 74815/68 58) -6986 59) 186 60) 105.133 61) 5-16 62) -85 63) 2609.3

64) 12.1 65) 8805.6224086244 66) 40604352380928 67) 4387.2 68) 11500.323507241 69) 24033.183799962 70) 20

71) 20 72) 313/40 73) 127108.83876424 74) 1/6 75) 17 76) Straight 77) Straight

78) 173/11 79) 1.58 80) 112 81) 30000000 82) (f + 3)2 83) 26.49 84) 9 x 103

85) 10 86) 23 87) 211/17 88) 543.6 89) 22 90) 126/1573 91) 20

92) 60486.130557115 93) 94) 171 95) 396/11 96) 243 97) 26.1 98) 2 : 29

99) 0.04 100) 27/8
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